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5 1 2 3 4 5 4.5270 4.5270 0.2264
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4 10 15 20 25 30 51.22 5 0.2000

6 ����������	��'��� ��;��	����	�����5)��
��	
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���(���������(	#'��;�������	�	(	#' 
#���	�	��5!����	$��/��;���ก�'���!����	

4 10 15 20 25 30 17.07 2.9 0.1160
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4 60 70 80 90 100 17.07 1 0.0400
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� 6@	9@	��� !8ก	�4Bก:	 2552

30 1 2 3 4 5 3.44 3.44 1.0320
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9 �������	
9B�9��������ก4Bก:	$��
� ��	ก�  (���	���ก������ 8)

9.1 ��������	
9B�9��������ก4Bก:	 2 65 70 75 80 85 82.3 4.46 0.0892

9.2 ��������	
9B�9���$����	
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�6	�	��5

2 65 70 75 80 85 86.8 5 0.1000
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� ��	ก��	������� �

2 65 70 75 80 85 85.88 5 0.1000
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2 65 70 75 80 85 86.41 5 0.1000
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2 1 2 3 4 5 5 5 0.1000
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	#�ก	���ก	��� ��ก:59����	�

2 1 2 3 4 5 5 5 0.1000

0.0000
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2 70 75 80 85 90 100 5 0.1000
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2 70 75 80 85 90 32 1 0.0200
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14.1 ���������ก	����!��( 

�6�ก��
ก	�#	
$%�

1 75 80 85 90 95 66.67 5 0.0500
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ก	�)��
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1 60 65 70 75 80 63.75 5 0.0500
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1 0 0 1 2 3 3 5 0.0500
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1 0 1 2 3 4 6 5 0.0500
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1 0 - 1 - 2 7 5 0.0500
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15.1 �������	
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1 1 2 3 4 5 5 5 0.0500

15.2 ก	��	��	�@	��ก	�?���	�)�	���
��6I'#!8ก	�4Bก:	 2552
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�	��	����
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1 1 - - - 5 5 5 0.0500
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1 65 70 75 80 85 93.74 5 0.0500
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1 1 - - - 5 5 5 0.0500
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1 1 2 3 4 5 5 5 0.0500
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1 1 2 3 4 5 5 5 0.0500

16 �������	
��	
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�	ก�

1 1 2 3 4 5 8 3 0.0300
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��	
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����#��ก	�9�H�	� 6@	9ก	���'�	�
���ก	�@	���N  (���	���ก������ 15)

15 1 2 3 4 5 4.8360 4.8360 0.7254

100 4.0190
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